Eighth Grade Supply List
2017- 2018 School Year

Homeroom:
3 boxes of tissues
1 bottle of hand sanitizer

Spanish & Religion

2 composition notebook (no spiral notebooks)
4 folders

1 pack of highlighters

1 pack of blue or black pens

1 pack of red pens

2 packs of loose-leaf

Science & Social Studies

2 notebooks (no spiral notebooks)
2 folders

blue, black and red pens

glue sticks

Math

lin. three ring Binder
Graph paper
Scientific calculator
Loose leaf paper

No. 2 pencils

Blue or black ink pens

ELA

3 Marble Composition notebooks

2 Plastic pocket folders

2 Boxes of erasable pens - blue or black only
2 Boxes of # 2 mechanical pencils

1 Package of loose-leaf

Highlighters — yellow only

Erasers



Art

Small art case or large Ziploc bag -must fit in locker
Crayons

Colored pencils

Glue

Scissors

Summer Work

Summer Work

Current Students:

e Complete at least 25 lessons (3 per week) in iReady. All current Sacred Heart
Grade School students have usernames and passwords.
e Pick a novel of your choice - try to step out of your comfort zone and pick a

different genre that you usually do not read. Then you are to write a
summary (one paragraph with 9-12 sentence) of the novel. You can type it
or write it neatly on loose leaf. Pick your favorite section of the book and
draw the scene. You can use your imagination and creativity to create your
drawing

e Complete attached Math Review packet

New Students should do all of the above, with the exception of iReady.



Mr. Browning Name:
Math - Grade 7 Summer Review Date:
(Show work)
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2) Fill in the blanks indicating whether the number is positive or negative.

If n is @ positive even number, then {—=55)" is

If nis a positive odd number, then (—72.4)™ is

3) Simplify
(3% (-3)° =

152-72-15-74 =

Let a be a number.

a_.ﬂ . aﬂ- —

4) Let a and b be numbers. Use the distributive law to
rewrite the expression in a simpler form.

b(a+ b) =

(a+b)a+b)=

5) Simplify

6) Simplify

79 135 is(llx“) =
== fE i
(=2)7-95°
AT
7) Simplify 8) Simplify
(15%)% = {59:}?2]? = (7(123456.789)%)" =
(3°x7%° = x4l yl5 pdloyls

}-.1.5 Pl :PJ..E - x4l




9) Write the complete expanded form of the decimal 4.728 in
exponential notation.

10) Write an equivalent expression, in exponential
notation, to the one given, and simplify as much as
possible.

1

3-27%= =
g9

11) Simplify the expressions

192 1716
195 172

12) Use the properties of exponents to write an equivalent
expression that is a product of distinct primes, each raised
to an integer power.

10° - 92
5

13) Let M= 993,456,789,098,765.
Find the smallest power of 10 that will exceed M.

899
LetN= 75491 —
987

Find the smallest power of 10 that will exceed N.

14) Are the following numbers written in scientific
notation? If not, state the reason.

1.908 x 1017 0.325 x 102
18.432 x 5% 7.99 x 10%*
8x 10~ 40701 + 107

15) on average, Mercury is about 57,000,000 km from the sun, whereas Neptune is about 4.5 x 10° km from the sun.
What is the difference between Mercury’s and Neptune’s distances from the sun?




16) The mass of Earth is approximately 5.9 x 10°* kg, and the mass of Venus is approximately 4.9 x 10** kg

d. Find their combined mass.
b. Given that the mass of the sun is approximately 1.9 x 1030 kg, how many Venuses and Earths would it take to
equal the mass of the sun?

17) There are approximately 7.5 % 1012 grains of sand on Earth. There are approximately 7 % 1027 atoms in an average
human body. Are there more grains of sand on Earth or atoms in an average human body? How do you know?

18) Suppose you measure the following masses in terms of 19) Chris said that 5.3x10* <5.301x10* because 5.3
kilograms: has fewer digits than 5.301. Show that even though his
2.6 x 103 9.04 x 1072 answer is correct, his reasoning is flawed. Show him an

= = example to illustrate that his reasoning would result in an
8.82 % 10 2.3 % 10 incorrect answer. Explain.

1.8 x 1012 2.103 x 1022

8.1 x 1030 6.23 x 108

6.723 = 1017 1.15 x 1020

7.07 x 10%! 7.210 x 10%°

5.11 ® 10%F 7.35 % 1034

7.8 x 1019 5.82 x 1036

What new unit might you introduce in order to aid discussion
of the masses in this problem? Name your unit, and express it
using some power of 10. Rewrite each number using your
newly defined unit.

20) Write out a detailed proof of the fact that, given two numbers in scientific notation, & X 10" and b % 10", a < b, i
and only ifa % 10™ < b x 10"
a. LetAdandFE be two positive numbers, with no restrictions on their size. s it true that A x 107% = B = 10°7
b. Mow, if 4 % 10759 and B x 107 are written in scientific notation, is it true that 4 x 1075 =< B x 1057 Explain.




21) Define the constant of proportionality to answer the | 22) Given a rectangle with dimensions 5 cm and 10 ¢m,
follow-up question. as shown, find the length of the diagonal, if possible

Bananas are $0.59/pound. __|
a. What is the constant of proportionality, or k?

5 em
b. How much will 25 pounds of bananas cost?

—

10 em

23) Translate the plane containing Figure B along BA . Use 24) Reflect the images across line L. Label the reflected

your transparency to sketch the image of Figure B by this 1mages.

translation. Mark points on Figure B, and label the image of

Figure B accordingly. A

A
66°
B B
Figure B C
L

25) Let there be a rotation of d degrees around center 0. Let P | 26) A segment of length 94 cm has been rotated d degrees
be a point other than O. Select d so that d< 0. Find P’ (i.e., the | around a center O. What is the length of the rotated
rotation of point P) using a transparency. segment? How do you know?

P

An angle of size 124° has been rotated d degrees around a
center 0. What is the size of the rotated angle? How do
you know?

o]

27)  Lettwo figures ABC and 4'B'C" be given so that the length of curved segment AC equals the length of curved
segment A'C’, |£EB| = |£EB| = BO®, and |AB| = |A'B'| = 5. With clarity and precision, describe a sequence of rigid
miotions that would map figure ABC onto figure A'B'C.




28)

In the diagram below, line AF s parallel to line CD, that is, L, | L.,. The measure of £ABC is 28° and the
mieasure of ZEDC i1s 42°% Find the measure of ACED. Explain why you are correct by presenting an informal
argument that uses the angle sum of a triangle.

29) Use this table to answer the following questions. Number of Gallons of Gas | Number of Miles Driven
a. Which variable is the dependent variable, and why? 0 0

2 62

4 124

10 310

b. Is the number of miles driven proportionally related to the number of gallons of gas consumed? If so, what is the equation
that relates the number of miles driven to the number of gallons of gas?

c. In any ratio relating the number of gallons of gas and the number of miles driven, will one of the values always be larger?
If so, which one?

d. If the number of gallons of gas is known, can you find the number of miles driven? Explain how this value would be
calculated.

e. If the number of miles driven is known, can you find the number of gallons of gas consumed? Explain how this value
would be calculated.

f. How many miles could be driven with 18 gallons of gas?

g. How many gallons are used when the car has been driven 18 miles?

h. How many miles have been driven when half a gallon of gas is used?

i. How many gallons of gas have been used when the car has been driven for a half mile?




30) Give all sefs of:
Alternate interior angles

Alternate exterior angles

Same side interior angles

Same side exterior angles

Vertical angles

Corresponding angles

m

31) Find the measure of every angle within the figure

32) Write an equation that will model the proportional
relationship given in the real-world situation.

There are 3 cans that store 9 tennis balls. Consider the
number of balls per can.

b. Write an equation to represent the relationship.

a. Find the constant of proportionality for this situation.

33) Krego earns $2,456.75 every month. He also
earns an extra $4.75 every time he sells a new gym
membership. Last month, Krego sold 32 new gym

memberships. How much money did Krego earn last
month?




34) Describe a sequence that would show AABC ~AA!BIC!.

35) Championship t-shirts sell for $22 each.
a. What point(s) must be on the graph for the quantities to
be proportional to each other?

b. What does the ordered pair (5, 10) represent in the
context of this problem?

c. How many t-shirts were sold if you spent a total of $88?

36) Find the scale factor using the given scale drawings
and measurements below.

Scale Factor:

Actual Picture Scale Drawing

37) Using the given scale factor, create a scale
drawing from the actual pictures in centimeters:

Scale factor: 3

1 cm

38) Find the length of the unknown side. Round your answer
to the nearest hundredth if necessary.

39) Identify the slopes of the given linear equations
a. 2x1y=10 b. x14y=4

Determine if the given linear equations have a
negative or positive slope

a. 132x 116y =110 b. I'x+1ly=7
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